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1. Explain the items included in accounts wise, the balance of payment, in detail. 14
OR
Explain the arguments in favour and against the flexible and fixed Exchange Rate
Systems.

2. Explain the method to correct Balance of Payment under Flexible Exchange Rate

System. 14
OR
Explain the monetary and fiscal policies mix for achieving internal and external
equilibrium.
3. Write short notes : (any two) 14

(a) Marshall — Lerner conditions

(b) Foreign Trade Multiplier

(c) Gold Exchange Standard

(d) Swan Diagram

(e) Balance of Payment Theory

(f)  Stability of Foreign Exchange Market

4.  Critically examine the purchasing power parity theory. 14
OR
Write short notes : (any two)
(a) Causes of Balance of Payment deficit
(b) Terms of Trade
(c) Direction and Composition of Trade in India.
(d) Foreign Exchange Rate Determination.

5. Select correct answers to the following : 14
(1) BOP and BOT are .
(a) different (b) equal
(c) same (d) zero
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Current Account + Capital Account = for equilibrium of BOP.
(a) one (b) more than one
(c) zero (d) less than zero

Principle of Double Entry Book-keeping is
(a) No debit side

(b) No credit side

(c) Debit side equal to credit side

(d) No corresponding entries

Capital Account is long term if maturity of credit instrument is

(a) one year (b) more than one year

(c) less than one year (d) not less than 10 years
Automatic adjustment mechanism of BOP is of process.
(a) short term (b) very short term

(c) long term (d) very long term
Devaluation of currency and depreciation of a currency are

(a) same (b) different

(c) equal (d) zero

Current Account = Import goods and Exports of services +
(a) loans + pensions

(b) donations + loans

(c) government security + advances

(d) government grants + gifts

Currency in India is convertible.

(a) Fully (b) Partially

(c) Both(a) & (b) (d) None of these
Automatic income adjustment mechanismisa____ process.
(a) short term (b) long term

(c) (a) and (b) both (d) None of these
FC curve represents market equilibrium.

(a) Real (b) Money

(c) Factor (d) External
WTO was established in the year .

(a) 1985 (b) 1991

(c) 1995 (d) 2001
Headquarters of WTO is established in .

(a) New York (b) Washington
(¢) USA (d) Geneva

Full form of GATT is

(a) General Agreement on Trade and Tariff.

(b) General Agreement on Terms of Trade.

(c) General Agreement on Trade and Technology.
(d) None of these

SDRs are known as

(a) currency (b) capital
(c) FDI (d) Paper Gold
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